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BOARD ACTIVITY SHEET: MARCH 2024
ENGLISH KUMARBHARATI

Time: 3 Hours Total Marks: 80
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ii.

(B)

ii.

A)
(A1)

C Section I: Language Study )

Do as Directed (any four): [04 Marks]
Pick out the infinitive from the following sentence: a

Every child is free to grow.

Write the collocations for the following: a

ticket ..o

............................... drizzle.

Punctuate the following sentence: a@

dr kalam sat contemplating deeply

Write any two present participles in which the last letter is doubled. a

Find out any two hidden words of minimum four letters from the given word: a

reverberated.

Do as Directed (any two): [04 Marks]

Identify the verb in the given sentence and state whether it’s finite or non-finite: ()

He gave the reward to none.

Make two meaningful sentences to bring out the difference between the given two homophones: (2)
ware, wear

Rewrite the sentence using ‘as soon as’: )
No sooner is the bill passed than it will become an act.

Do as Directed (any one): [02 Marks]
Use the given two words into one meaningful sentence: ?2)

Rest; routine

Change the following sentence into a compound sentence: 2)
I awoke late next morning to find that Anil had already made the tea.

Section II: Textual Passages
(Reading Skills, Vocabulary and Grammar)

Read the following passage and do the given activities: [10 Marks]
Name the following with reference to the passage: 2
Activity Name

i. | The company started by the narrator and Woz.

ii. | The second company started by the narrator.

iii. | An amazing woman the narrator fell in love with

iv. | World’s most successful animation studio.

My second story is about love and loss. I found what I loved to do early in life. Woz
(Steve Wozniak) and I started Apple when I was 20. In 10 years Apple had grown from just
the two of us in a garage into a $2 billion company. And then I got fired. It was devastating.

But something slowly began to dawn on me - I still loved what I did. And so I decided
to start over.

The heaviness of being successful was replaced by the lightness of being a beginner
again. It freed me to enter one of the most creative periods of my life.
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During the next five years, I started a company Next, another company named
Pixar, and I fell in love with an amazing woman who would become my wife.

Pixar is now the world’s most successful animation studio, Apple bought Next.
I returned to Apple and the technology we developed at Next is at the heart of Apple’s
current renaissance. And Laurene and I have a wonderful family together.

Sometimes life hits you in the head with a brick. Don’t lose faith. The only way to
do great work is to love what you do. If you haven’t found it yet, keep looking. Don’t

settle.
(A2) Complete the following web diagram: 2)
’ Advice given by .
) Steve Jobs :
’ The theme of "
) Jobs’ second story \
(A3) Fillin the blanks choosing the correct phrases in their proper form from the bracket: )
(to get fired, devastating, begin to dawn on)
1. On committing persistent mistakes the employee from his post.
ii. ~ When the teacher explained the solution of the problems in Maths, it the students
that the problems were easy.
(A4) Do as Directed: (2)
1. Identify the tense of the underlined verb: 1)

If you haven’t found yet, keep looking.
il I found what I loved to do early in life. (Identify the main and subordinate clause.) 1)

(AS) Personal Response:

‘Failure is the key to success.” Explain in your own words. ?2)
(B) Read the following passage and complete the activities: [10 Marks]
(B1) State whether the given statements are true or false: 2)
1. The age of the girl was six.

ii.  The boy on the bed was fast asleep.
iii.  Pandit Ravi Shankar was a tabla maestro.
iv.  She had seen how the doctors had shaken their heads gravely.

One morning in a small apartment in Bombay a girl of about sixteen looked up
from the newspaper and said excitedly, ‘Pandit Ravi Shankar’s playing tomorrow at
Shanmukhananda auditorium’.

‘Sh-sh’ said her mother pointing to the figure sleeping on the bed. ‘You’ll wake
him up. You know he needs all the sleep and rest he can get.’

But the boy on the bed was not asleep. ‘Pandit Ravi Shankar!” he said. ‘Pandit
Ravi Shankar, the sitar maestro? He raised himself up on his elbows for one second
and then fell back. But his eyes were shining. ‘We mustn’t miss the chance,” he said.
‘I’ve — I’ve — always wanted to hear him and see him ....”

‘Lie down son, lie down.” His mother sprang to his side. ‘He actually raised
himself without help,” she murmured with a catch in her throat and her eyes turned to
the idols on a corner shelf. The prayer, which she uttered endlessly, came unbidden to
her lips.

‘I must hear him and see him,” the boy repeated. ‘It’s a chance of a lifetime.’
Then he began to cough and gasp for breath and had to be given oxygen from the
cylinder that stood under the bed. But his large eyes were fixed on his sister.
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Smita bit her lip in self-reproach. She had been so excited at seeing the announcement
that she had not remembered that her brother was very ill. She had seen how the doctors had
shaken their heads gravely and spoken words that neither she nor even her parents could
understand. But somewhere deep inside Smita had known the frightening truth - that Anant
was going to die. The word cancer had hung in the air — her brother was dying of cancer
even though she pretended that all would be well and they would return together, a small
family of four, to their home in Gaganpur. And he was only fifteen and the best table-tennis
player in the school and the fastest runner. He was learning to play sitar; they were both
taking sitar lessons, but Anant was better than her as in many things. He was already able to
compose his own tunes to the astonishment of their Guru.

Complete the following statements giving reasons: 2
Anant was better than his sister in playing sitar because
The girl was excited because

2
Find any two adverbs from the passage ending with ‘ly’.
Find any two compound words from the passage.
Do as Directed: (2)
"I’ve always wanted to hear him and see him," he said. (Change into indirect speech). a
His mother sprang to his side. (Add a question tag). 6))
Personal Response
Describe your experience of any musical concert that you have attended. ?2)

‘ Section III: Poetry )

Read the following extract and do the given activities: [05 Marks]
Identify the stages in man’s life from the given description and complete the table: 2)

Actions Stage

i. | Full of strange oaths |  .............
ii. | Creeping likeasnail |  .............
iii. | Sighing like furnace | ...
iv. | Having fairround belly |  .............

All the World’s a Stage

All the world’s a stage,

And all the men and women merely players;
They have their exits and their entrances,
And one man in his time plays many parts,
His acts being seven ages. At first, the infant,
Mewling and puking in the nurse’s arms.
Then the whining schoolboy, with his satchel
And shining morning face, creeping like snail
Unwillingly to school. And then the lover,
Sighing like furnace, with a woeful ballad
Made to his mistress’ eyebow. Then a solider,
Full of strange oaths and bearded like the pard,
Jealous in honour, sudden and quick in quarrel,

Seeking the bubble reputation
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(A2) Write down the similarities between the first and the 7th (last) stage of man’s life:
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Even in the cannon’s mouth. And then the justice,
In fair round belly with good capon lined,
With eyes severe and beard of formal cut,

Full of wise saws and modern instances;
And so he plays his part. The sixth age shifts
Into the lean and slippered pantaloon,

With spectacles on nose and pouch on side;
His youthful hose, well saved, a world too wide
For his shrunk shank, and his big manly voice,
Turning again toward childish treble, pipes
And whistles in his sound. Last scene of all,
That ends this strange eventful history,

Is second childishness and mere oblivion,
Sans teeth, sans eyes, sans taste, sans everything.

@

(A3) Choose the correct alternative to identify the figure of speech used in the following line: (1)

1.
iii.
iv.

(B)

All the world’s a stage...

Simile
Metaphor
Personification
Alliteration.

Read the following poem and write an appreciation of it with the help of the given

points in a paragraph:

The Height of the Ridiculous

I wrote some lines once on a time

In wondrous merry mood,

And thought, as usual, men would say
They were exceeding good.

They were so queer, so very queer,
I laughed as I would die;

Albeit, in the general way,

A sober man am I.

I called my servant, and he came;
How kind it was of him

To mind a slender man like me,
He of the might limb.

“These to the printer,” I exclaimed,
And, in my humorous way,

I added (as a trifling jest,)
“There'll be the devil to pay.

He took the paper, and I watched,
And saw him peep within

At the first line be read, his face
Was all upon the grin
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He read the next; the grin grew broad
And shot from ear to ear;
He read the third; a chuckling noise
I now began to hear.
The fourth; he broke into a roar;
The fifth; his waistband split;
The sixth; he burst his five buttons
And tumbled in a fit.
Ten days and nights, with sleepless eye,
I watched that wretched man,
and since, I never dare to write

As funny as I can.
— Oliver Wendell Holmes
Points:

° The title and the poet of the poem. 1

° Rhyme scheme 1)

° Figures of speech 1

° Central Idea/Theme ?2)

(Section IV: Non-Textual Passage)
(Reading Skills, Vocabulary, Grammar and Summary)

Q.4 (A) Read the following passage and do the given activities: [10 Marks]
(A1) Complete the following web chart: 2)

-

T

Advantages of tourist
destination in Kerala

Kerala is the land of magic, ayurvedic massages and Kathakali. Most visitors generally
begin their sojourn in this lovely state with Kochi. This city reflects the eclectism of Kerala.
Here, you can see the oldest European built church in India, a small 16th Century synagogue
that serves a proportionate community of Jews, a palace built by the Portuguese, given to the
Raja of Cochin and renovated by the Dutch and some world-class performances of the
Kathakali dance drama. Make sure you take a boat trip on the Malabar Coast. It will take you
out to the Dutch town and fort, an area that also has some surprisingly good book shops.

Alternatively, you could start with Thiruvananthapuram, which also has a laid back
charm of its own. Here, you can visit the Padmanabhaswamy temple, the Napier museum, the
Puttan Mallika Palace and the neighbouring beaches. These include Kovalam, now a pleasant
spot to spend an evening.

The backwaters are also famous as a holiday option. For that, you have to move on to
Alleppey or Allappuzha a district made unique by an intricate network of canals. Or you could
head to Munnar, sheer beauty in the hills. Rolling oceans of tubby green tea bushes, crisp mountain
air, craggy hills, wildlife and a throwback to colonial times makes Munnar a lovely getaway.

Or you could visit Thekkady, which is also a charming town and has an added
advantage of being close to the Periyar Wildlife Sanctuary. At Thekkady you can wander
through plantations of cardamom, tea and coffee.

Of the three options, you can surely choose a place of your dreams where you can chill
out!
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You can take a meandering cruise down the backwaters, spend a lazy day by the sea,
take a trek up the winding hills or enjoy ayurvedic health holidays. These are some of the
advantages no other destination offers.

Welcome to this unique land of spellbinding adventures. It’s the most refreshing holiday
you could ever have.

(A2)

(A3)

(A4)
i.

ii.
(AS)

(B)

Q5 AW

Complete the following table: ?2)
City Speciality
i. | Kochi
ii. | Thekkady
iii. | Thiruvananthapuram
iv. | Alleppey
Match the words in Column ‘A’ with their meanings in Column ‘B’: 2)
Column ‘A’ Column ‘B’
i. | Charm a. | throw back light or heat
ii. | Craggy b. | enthralling
iii. | Reflect c. | magical spell
iv. | Spellbinding | d. | steep
Do as Directed: 2)
You can choose a place of your dreams. 1)
(Use the modal auxiliary showing compulsion and rewrite the sentence)
Kerala is the land of magic and ayurvedic massages. 1)
(Rewrite the sentence using ‘not only ........... but also’)
Personal Response: )
Why is tourism industry important for the Indian Economy to flourish?
Summary Writing: [05 Marks]
Read the passage given in question 4(A) and write its summary in a paragraph.
Suggest a suitable title.
[ Section V: Writing Skills )
N
Letter writing: [05 Marks]

Imagine you are Soham/Sohini Dargan residing at 208, Swarnadham, Hira Colony,

Mumbai-400052.
Read the following snippet and write a letter based on it:

Sports and games are activities which make a person more capable with high
level efficiency. It removes the mental exhaustion and makes us capable to do
any hard work. It improves blood circulation all through the body, thus
improves the physical and mental well being of the person.

Al. Formal Letter: A2. Informal Letter:
Write a letter to the Editor of a Write a letter to your friend
newspaper to create awareness | OR Neha/Nishant describing the
about the role of sports in a advantages of sports and games.
student’s life.
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Information Transfer. [05 Marks]
Verbal to Non-Verbal:

Read the following information and complete the flow-chart for the same; and give a
suitable title.

Sugar beet grows through the summer and is harvested in autumn and winter. When it
arrives on site, the sugar beet is washed. The sugar beet is sliced into thin strips called cossettes.

These thin strips are mixed with hot water to extract the sugar and a lime solution is added
to the raw juice to remove any impurities.

The syrup is filtered, heated and seeded with tiny sugar crystals, which grow into the
required size. The sugar crystals are then washed, dried and cooled.

Sugar is delivered to our customers in a variety of formats for both industrial and retail
markets.

OR

Non-verbal to Verbal:
Transfer the given information into a paragraph. Suggest a suitable title:

Caused by Man Caused by Nature Solutions
i. | Too many people Droughts Stricter laws to control population.
ii. | More agricultural land | Floods Stricter laws and proper execution
required to meet the needs of of laws

the ever growing populations

iii. | Cutting of forests for wood | Forest fires Use alternative products
etc.
iv. | Poaching by hunters. — Reduce demand for illegal wildlife

parts and products by not
purchasing products made from

these items.

[05 Marks]
Drafting a speech:
Prepare a speech to be delivered in your school assembly:
The topic given to you is:
‘Nothing is more important than self-study.’
You may use the following points:

Learn more efficiently
Learn at your own pace
Encourages curiosity

Boosts student’s self-esteem.

OR

(B2) View/Counterview-view

Write your counter-view in a paragraph on the following views.

‘Social networking sites are not a necessity.’

Views:

° There are other ways of connecting and staying in touch.
° People may resort to dishonesty.

° Cyber crimes are on the rise.

° Vital personal information may be misused.
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Section VI: Creative Writing
(Expansion of theme/News Report)

Attempt any one of the following: [05 Marks]

Expand the theme:
Expand the following idea into 100 words:
Trees: Nature’s Gift to Man.

OR
News Report:

Prepare a news report based on the following:

)

Child labourers rescued from stone quarries’.

Developing a story/Narrating an experience : [05 Marks]
Develop a story in about 80-100 words with the following beginning. Give a suitable title.

Anita was in a cake shop to buy a cake for her birthday. She saw a small beggar boy outside
the shop ..............

OR
Narrate an experience in about 80-100 words with the following ending. Give a suitable
title.
............................................................... After the sumptuous meal in a luxurious
hotel, I discovered that I had forgotten my wallet at home.
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1.

faumT 1 — e : 20 3

(1) frr=fafea afea TegneT vea & TE GEATST F ATAR HeAT Hfw :

21 q ATeT ek q30 S @Ml &1 g5 Il gqaal Star g5 e 3 | I fed-Ja- ard
2 AR ZA AfH I € 3R HH-HT IA NI HA £ foh TS BT SIRA &M & A €,
et WSt T @ &G Bl & | SRA 12 &7 df ush o &ar @ foh o wie &bt us i
T T AR 21 THATG & Fohd & fehg WA aTS, T2 af Uep gal =0 & fh “2 W e,
Redery, T a1rait, Sia S 9 e, 9 Sl o %!, J99 &1 Bl 999 Tel | 39 a0 gaa
W T T2 9o € |7 9ea T dee 3R SHEE! I ZHEE! | e aral T @ard T &1 g3 @’ A
3qq 2T 22 T

T3 e o o qed vedl d @ 3y Tl 21 a1 3% 3R 22 W H H 7 faq @
or, 71 3 341 i 7 a9 A @ 9 T e A 2 22 Gk F9 T ST UREN gl | Zeh
Zaedl § 7% a1 @ fodl wdl ¢ foh 3@ deT, 99 99 | A & |

7€ % R U 1 A Dr 97 21 g T2 o, 3T Ar-aga o | S @ few ara s
3d - @ & @ Al % SRt Fae o 2 |

(1) fAfafad I 9o S :
(i) T BT STRH ETH qG & AL T oo,
(i) 19 e aTl BT AT e BT ST R T oo

2) S fafau:
(i) E9EEl M aTdi &bl ftheh & Tl -
(i) W@ Sl WM B AT -
(iii) TS BT e & TG § TeT T9G BT G AT AT 2 -
(iv) FUS T 39 HIOT G &l 3Tl -
(3) () TEIIITH S &3 Uh TAHIET 9T Bl AIST GG [Ty | -

(i) e H YIHT &l 35 ITE SRt [Wiay
(1) oo,

(4) ‘omm e W 2s 7 30 9l § o faeEm fata |
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(sm) frrfafea afea Teanet wea & TE FEATHAT F AR FeAt Hf :

Tl FU ¥ I 9« @1 ¢ foh agd & @ T SMeiifaeT 9% AW ¥ 9@ € 3R 912
Tt = A | 51 19 gufed arferes €, 9 oW ¥ wd €1 3 @l § &9 i &bl 3Mad | el
2| 39 39T § T 2 T 3 BT g i a1 & T A 8eh 719 S a2 2, a8 &d WIhR hed
TIET el &1 BN GHWAT b HIOT &9 T4 S1eh e A 7 (91 ok Rifch SATSIferehT bl ATe-aqrast
feraT-T-fepdt & = o &1 €1 7€ gebdr | 3afau fe1 91k 2w fohu 38 aralt &7 ST i &
TAd SAfeehR &8 el fHedT | 3R 13 % 9 R &9 T Gled € o SF 08 &1 oS o7 ofd ¥ 29
ZEl

gfFieh @I ST SATaT Ffed BT STANT TS o f&d § 2RI & dR W &1 | ufed & I 3R
Y& IS &1 I SRR ™ FT & 7 3 9 A@9ThdT § A B 3MUH &, TqW TF Al
HATUBR T FHHRL THHT ST 7 & fog e |

IE 4§ 929 Tadi ¢ fob gl & <9 3 gmIioies ST & 3 9293 & 2 & 99 {6
ST, T e |

(1) T ferfu :
() TS § ST ASAIADRT a5 & AT 309 TAmd & —
(i) TS ¥ 39T SISt 4TS @1 388 T & —
(iii) TN ¥ T 1ol @ o I I8 SATeh & —
(iv) 3 @M ¥ 3qh! 3Ed o1 & —

(2)  Pid i Hifw:
® TEHi9T ¥ Teriad a5
I
(i) g % o & 21 ATl A B

(3) () qIN & AFAR HIaAT DI :

ST R | o= WA =
.................. «— gq—

(i)  TEHI9T ¥ g 9T=T™ GGt qehT Y] ATeRT H WA hifoT |
(4) U T THA AN fI w25 F 30 o2 ¥ 3 ferm e |
(3) frfafaa safea weist Tea & 7 gaATel & AgAR Fiodt Fifr:

T 1911 ¥, ARAGATT ¥ TTaR WA D1 (IS 7 U&7 &7 3R F29 300 | Fe q1eT 3
TTehT el & TU&T &1 &7 3 aar o9 § 9 g = R 9| [iga &9 89 7 39 w0 § ama
T a1 fehan |

o, fad o9 3R Femry @y 3 faem @ @ vers & fo v @ gan| e
AT ¥ qAT FIH ST, F1 gfaar iR FRad T g | 89 1915 @7 95 Frdeniar Sl g
& T AT &1 9Rem S|
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e &1 g favafagaad ¥ ‘diee a9ul ard s’ o A9 B T | 98 39T @il G
3 FEwfedt i el weel ¥ ue @ = 1 9em ¥ =did &id 9| 98 I= 2091 {4l & MW
Terd | sy 7 3R fIe HAR T &1 27 Henal § agd @9 g3 | 38 ERE g AT
M & § Aihd ¥ S MU | & o T 921 Al & R 3hee 2 I |

(1) S fofau:
(1)

TThT ehlolol I TeT 7

FEAAT WA O | AT & 9 9Tl
are

&1 37

(i)

TEATYT 7 Tedad

g

\ qe

! |
I VY

() ‘FHEITA TN gedr &’ fawg w25 3 30 9=t ¥ 3rqw foaw fefam )

fauarT2 — U : 12 3=

() frrfofae afea agaiet v & T qETel F AgAR Fiedt g :

TE 2 9T, 921 & 9Tferd, ael

TR AT T &9 BT &1, Wehdl 1 T qTaT &l
B ST 1 921, el & & U F T |
AR & @, 1 ¥ 9TfcR, THAT &I FaT G
= & TRa § o1 7, TR 1 3@ 7 g v |
AR T9F § a1 g, Afafd & gar ean g

T | 9, B ¥ oA, Ji= ¥ Tdl 97 24 |
TET € T, 921 @ 39T, 92T WIed &, 991 qH

[0 1 92T 341 o o0, T2 AT © 98 8
TR 7 € &9 99, S9N AR WRAAY |

=9 e o ga |

gATH | HidEn
¥
! !

(2) () T A AAH 9T Bl AT Ga frau :
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(i) FEfaRI o1&l & 999 Eare fiigu :

() 9T = o,
(3)  TYYeR YEHI9T Sl AR WlerEl b1 FA 3 25 F 30 9Tl A faigu |

(am) frrmforfae afea agaieT T & T e F ATAR Fedt Fg:

B FHS 79 TaTd AR | 92 €9 S39d 1 An] |

2T S WiE |9 A1ET | @ @ Wi st 2R @ |
TUTE e Y MR | T2 Fafe g9 fagar mi ||

gz o wefe fR 5 | @ % 994 49 98 w4 | |

wg ol IR Tl 5 | 519 91 99 @ a4 | |

4 TWd W B UM S SiERE JET @gerl |
FMTe-aMie o WS Jamar | ol JeH Joord uie 3| |
ARAT e AR T T3 | Bl 3rad i g eR wig ||

(1) fr=fafa R g s o TEames fafaw -
(i) ST e A MR FgwTav fFaTe —
(i) HTAMBTTTSTE/IE > oo,
(ifi) 32 =l 1y R FE BT e — .
(%) AT UH—Ueh Hich ST Y FooTd AT o T 3 AT 8> oo

(k) () =g o= & foe gedion § 99 91 et fdidy
(1) 3= -
(2) fozarT—
(i) FrAfRad 9Tt & ol TEaTeR [ :
(1) 95—
(k) M-
(3) Sude Tt A HHT: R A wfFaat w1 ww v 25 F 30 vt W fofaw)

fawmT 3 — W uaT - 8 3f
(1) frrforfae afea TeaisT Toa &t TE IS F ATAR Ferdl HIIT:

78 a9 g1 I T 92 @ AT | I @ SR A 99 ©d & 9, Tai § o q iR ong § o
frrr o | &rar 39 fastiast 3R g+ {|w & T8d 1 & fau 3o A werei ® faar |

I ATE & 9adrd 9 HI AT W b 72| G &1 § & 99 § gHa—a1 92gq e
T 7| 9&f T ITpiaes died, - =1 ™ ¥ 91 a9 @2, drdar ey & g4, @il &
REdT ¥ EwhT—AT 91R &Y ST 3ifede f4ee &id 3’4, 79 98ard & forg v 3 |
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34 {3 9T % 9o 3@ bR 2&d ® 9| Ush Je2aran o iR aia— “ard, et @i |
TRH—TRH AT FATET @R 37 |7 Faof &1 I8 foran — “fepa 18 77
“qig FT HT|”
‘T ? TG F H U 2T | TR 9T | 1 &1 5 § U e &, gran a arl”

(1) @ ot Hifg :

(2) ‘oapfa w1 F 79 FEI 8 o w oo o 25 @ 30 ot | fafm)
(am) frrfofae afea agaist wga & T el F AgaR Fedt i

el o dd

fgafeard ga

AT IO |
et Far
TGl & @R Y
3T AT |

@R 5 9

gt M farre

T e |

‘ap car
(i) FRaaRaamar ga faume
(i) S|
(iii) @=w geuTr
(iv) dad Heol
™

(2) ‘@il % 99 Rae-aTeT Ko Wl ad1 &' fawg | 25 & 30 7@ § 3 foar fofau|
fa9mT 4 — T STEET (SATRTUT) ¢ 14 3iH
4. IS F ATAR Fleat 0

1) TrAfefaa ae 7 aaRaEifed 7T F1 =9 EaEH fofag
T A Hioo § IG1 &1 7
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(®))

(C))

(6))

(6)

@)
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Frafotad seat 9 § f6Hl v = &1 TI9eT I § 90T S :
()  gi-dR

(i) Sfpd
Fier o1 Ffg:
= qfy-fame Ty 9T
.................. HeT + ATl
HTT
gy | \ETTEPTTY i

frrfaf arr § A {6t oF ar 31 geras fRan aEE suH gu & fafa:

(i) &3 gg M|
(i) H axaTe @ |

EXI TIH O F &9 CECIRE I IEE R
() T | e e,
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BOARD ACTIVITY SHEET: MARCH 2024

Science and Technology Part - 1

Time: 2 Hours

Q.1.

(A)

il.

iii.

iv.

(B)

ii.

iii.

iv.

Write the correct alternative:

The SI unit of heat is
(A) calorie
(C)  kcal/kg °C

(B) joule
(D) cal/g°C

We can see the sun even when it is little below the horizon because of

(A) Reflection of light
(C) Dispersion of light

(B) Refraction of light
(D)  Absorption of light

is the functional group of carboxylic acid.

(A) —COOH—
(C) —CHO—

In simple microscope
(A) Concave
(C) Plano convex

lens is used.

(B) —CO—
(D) —OH—

(B) Plano concave
(D) Convex

In process a layer of molten tin is deposited on metals.

(A) Anodization
(C) Galvanizing

Answer the following:

(B) Tinning
(D) Alloying

Write the name of the atom having the smallest size.

Write the molecular formula of calcium carbonate.

Write the use of ‘Calorimeter’.

Identify the hydrocarbon from the given electron—dot structure :

H H
H:C:C-H
H H

Match the columns:

Column ‘A’ Column ‘B’
Refractive index of water (a) | 1.31
(b) | 1.36
(c) | 1.33
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Q.2. (A) Give scientific reasons (any two): [4]
i When the gas formed on heating limestone, is passed through freshly prepared lime water, the
line water turns milky.
ii.  Tungsten metal is used to make a solenoid type coil in an electric bulb.
iii.  On exposure to air, silver articles turn blackish after some time.

(B) Answer the following (any three): [6]
i. State Dobereiner’s law of triad. Give one example of it.
ii.  Identify the figure and explain its use:

iR -

g
]

O

iii.  What is meant by satellite launch vehicle? Name any one Indian satellite launch vehicle.
iv.  What is free fall? When is it possible?

v. The focal length of a convex lens is 20 cm. What is its power?
Q.3. Answer the following questions (any five): [15]
i. Select the appropriate option and complete the following paragraph :

(Metals, non-metals, metalloids, four, seven, s-block, p-block, d-block, f-block.)

On the basis of electronic configuration, elements in the modern periodic table are classified
into blocks. Group 1 and 2 elements are included in and all these
elements are metals. (except hydrogen). Group 13 to 18 elements are included in

This block contains metals, non-metals and metalloids. Group 3 to 12 elements are included

in and all the elements are elements shown at the bottoms of the periodic
table i.c., lanthanides and actinides constitute and all these clements are metals.
il (a)  What are the factors affecting the rate of chemical reaction?

(b)  Explain any one factor.

iii.  Observe the following graph answer the following questions.

Boiling water + Vapour

100
90
80—
70

°C 601 <&
507 N
40 <>
30
20 -
10/A B

OGO /TTT T T T T T T T T T T T T T 11

2 4 6 81012141618 202224262830 32 34
Ice + Water

(Solid + liquid)

C Liquid — Gaseous state

Time (Minutes) —

(a)  What does the graph represent?
(b)  What does the line AB represent?
(c)  What does the line BC represent?
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iv.  Complete the following table by observing the given figures:

Figure
_)

Points |

(a) Name of the defect

(b)  Position of the image

(c)  Lens used to correct

the defect.
v. Write any three general properties of ionic compounds.
Vvi. Observe the figure and answer the questions:
F F

(a)  State Newton’s universal law of gravitation.

(b) If the distance between the two bodies is tripled, how will the gravitational force
between them change?

(c)  What will happen to gravitational force, if mass of one of the objects is doubled?

vii.  The orbit of a satellite is exactly 35780 km above the Earth’s surface and its tangential
velocity is 3.08 km/s.

How much time the satellite will take to complete one revolution around the earth?
(Radius of the Earth = 6400 km.)

viii.  What is a solenoid? Draw a neat diagram and name its various components.

Q.4. Answer the following questions (any one):
1. Observe the given diagram and answer the questions :

(a) Name the process shown in the figure.

(b)  Name the colour that deviates the most.

(¢) Name the colour that deviates the least.

(d) Name any one phenomenon in the nature which is based on the above process.
(e)  Define ‘spectrum’.
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il. Observe the diagram given below and answer the questions :

(a)
(b)
(©
(d)

(©)

Thistle funnel —

Cork «— Gas delivery tube

Stand —» |
Oy F.

Big test tube —

Small
test tube

Acetic acid > Freshly prepared
% 5 lime water
9 Sodium

carbonate

Name the reactants in this reaction.

Which gas comes out as effervescence in the bigger test tube?

What is the colour change in the lime water?

In the above experiment instead of sodium carbonate which chemical can be used to
get same product?

Write the use of acetic acid.
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BOARD ACTIVITY SHEET: MARCH 2024

Science and Technology Part - 2

Time: 2 Hours Max. Marks: 40

Q.1.

Q.2.

(A)

1.
ii.
1il.

iv.

(B)
i
ii.
iii.

iv.

(A)
ii.
iii.

(B)

Choose and write correct option number as answer: [5]
Regeneration occurs in .

(A) Amoeba (B)  Paramoecium

(C) Euglena (D) Planaria

Lactobacillus brevis gives us the beverage .

(A) cocoa (B) coffee

(C) wine (D) cider

A minor change occurs due to change in position of any nucleotide is termed as

(A) transcription (B) translocation

(C) mutation (D) translation

Atomic power plant in Maharashtra is .

(A) Chandrapur (B) Koyana

(C) Tarapur (D) Anjanwel

Example of phylum Arthropoda is .

(A) scorpion (B) starfish

(C) earthworm (D) Hydra

Solve the following: [5]
Pick the odd man out :

duckbill platypus, pomfret, lungfish, Peripatus.

Write co-relation :
Skin: Melanin :: Pancreas :

State, true or false :
Production of various useful aquatic organisms with the help of water is called blue
revolution.

Write full form of WHO.

Match the pair:
‘A’ ‘B’
(1) | Male (a) 44 + XX
(b) 44 + XY
(c) 44+YY
Give scientific reasons (any two): [4]

Though tortoise lives on land as well as in water, it cannot be included in class-Amphibia.
Hydroelectric energy, solar energy and wind energy are called renewable energies.

We feel tired after exercise.

Answer any three of the following: [6]
Write four adverse effects of radiations on human body.
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ii.

1.

iv.

V.
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—(

Redraw and complete the given chart.

Factors
affecting
the Social
Health

Write any four important facts which must be thought over while considering the scope of
disaster.

Name two fuels obtained by microbial processes. Why is it necessary to increase the use of
such fuels?

What is DNA fingerprinting? Where is it mainly useful?

Answer any five:

1.

ii.

iii.

iv.

(a)  What are vitamins?
(b) Classify them according to their solubility.
(c)  Give one example of each type as per above classification.

Explain the following terms:

(a) Stem cells

(b)  Cloning

(¢)  Genetically modified crops.

Complete the given paragraph by filling the blank spaces from the options given in the
bracket.
[oxygen, pyridines, mechanical, CO,, petroleum, fatal, polyester, Nocardia|

Spilling of oil occurs in ocean due to various reasons. This oil may prove
and toxic to aquatic organisms. It is not easy to remove the oil layer from surface
of water by method.
However, bacteria like Pseudomonas spp. and Alcanovorax borkumensis have to ability to
destroy the and other chemicals. Hence, these bacteria are used to clear the oil
spills. These are called as hydrocarbonoclastic bacteria (HCB). HCB decompose the
hydrocarbons and bring about the reaction of carbon with , and water is
formed in this process.

Observe the given picture and answer the questions.

Questions:

(a) Identify the given diagram.

(b)  What is the source of energy in this project?
(c)  Why this source is supposed to be ecofriendly?
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V.

V.

Vil.

viii.

www.saiphy.com

Complete the following chart:

(a)
(b)
(©

Read the statements and answer accordingly:
Calcareous spines are present on the body. Tube feet are used for locomotion and

(@)

(b)
(©

Define vestigial

Write names of any two vestigial organs in the human body.
Write name of those animals in which these vestigial organs are functional.

helpful to
overcome

Hobbies

stress

organs.

capturing prey also.
— Identify the phylum and give one example.

I live in your small intestine. Pseudocoelom is present in my thread like body.

O
C
)

Write names of any six materials which are to be in the first aid box.

— Identify the phylum and give one example.

My body is spindle shaped. I respire with the help of gills.
— Identify my class and give one example.

Answer any one:

1.

ii.

Answer the following questions based on human male reproductive system:

(a)
(b)
(©
(d)
(e)

Answer the following questions based on environmental conservation and biodiversity:

(a)

(b)
(©

In which organ sperms are formed?
What is the length of a sperm?
What is the work of vas deferens?
By which type of cell division, sperms are formed?

Name any two unpaired organs of male reproductive system.

Complete the flow chart:

Classification of
threatened species

I

! !

How can biodiversity be conserved? Give any four points.

Complete the flow chart:

Colour of the pages in Red List of Endangered Species

|

}

colour

colour
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BOARD QUESTION PAPER: MARCH 2024
HISTORY AND POLITICAL SCIENCE

Time: 2 Hours

Max. Marks: 40

Q.1. (A)
1.

(B)

Q.2. (A)

Choose the correct alternatives and complete the sentences: [3]

The

saw the rise of Mathura School.
(A) Kushana period

(B) Gupta period

(C) Rashtrakuta period (D) Maurya period
Bhilar near Mahabaleshwar is known as the ‘Village of ’
(A) Books (B) Plants (C) Mangoes (D) Forts
According to , "human history is the history of class struggle."
(A) Voltaire (B) George Wilhelm Friedrich Hegel
(C) Leopold Von Ranke (D) Karl Marx
Identify the wrong pair in every set and rewrite: [3]
1. Kootiyattam - Sanskrit theatre, Kerala
il. Ramman - Dance form in West Bengal
iii.  Ramlila - Traditional performance of the Ramayana in Uttar Pradesh
iv.  Kalbelia - Folk songs and dances of Rajasthan
1. Dashavatara - Tyagraj
ii. Khanjiri Bhajan - Rashtrasant Tukdoji Maharaj
iii.  Keertan - Saint Namdev
iv.  Bharud - Saint Eknath
1. James Mill - Feminist Historian
il. Friedrich Max Muller - Orientalist Scholar
iii.  Justice Mahadev - Nationalistic Historian
Govind Ranade
iv.  Damodar Kosambi - Marxist Historian

Do as directed (any two):

1.

Complete the concept map:

[4]

Types
of
Tourism
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Q..

Q.5.

Q.6.
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2. Complete the Timeline:
World Natural Heritage Sites in India

AD 1987 2014
Year yy A X 4
Sites/ Place: KaziPanga ' Wes‘,'tern )
National Park Ghats

3. Complete the following table:

Lalit | Bharud

Characteristics

Example

(B) Write short notes (any two):
1. Sthalakosh

2. Orientalist Historiography
3. The role of newspapers in the Indian struggle for independence

Explain the following statements with reasons (any mwo):

1. Foucault called his method, 'the archaeology of knowledge'.

2. It is necessary to preserve the tradition like Chitrakathi, which is on the verge of extinction.
3. Toys can tell us about history.

4.  The list of World Heritage Sites is announced by UNESCO.

Read the following passage and answer the questions below:

Major Dhyan Chand, an expert player of hockey was also the captain of the Indian hockey team.
Indian hockey team won a Gold Medal in 1936 at Berlin Olympics under his captaincy. He was also
part of the ]?revious hockey teams in 1928 and 1932, which played at Olympics and won Gold
Medals. 29" August, the birth date of Dhyan Chand is celebrated as the National Sports Day in
India. He was known as the "Wizard of Hockey.' He was honoured with a 'Padmabhushan' in 1956.

1. Who is called the 'Wizard of Hockey'?

2. InIndia, Major Dhyan Chand's birthday is celebrated as?

3. Write in short about the contribution of Major Dhyan Chand in Olympics.
Answer the following questions in detail (any two):

1. What is feminist historiography?

2. Why is library management important?

3. What kind of professional opportunities are available in the field of arts?
4. Write about the Dashavatara theatre.

Choose the correct option from the given options and complete the statements:
1. 73" and 74™ Amendment to the Indian constitution gave a constitutional status to
(A) Vidhansabha
(B) Local self-governing institutions
(C) Lok Sabha
(D) Rajya Sabha

2. The major challenge faced by all democratic nations in the world is
(A) Religious conflicts (B) Naxal activities
(C) Deepening the roots of democracy (D) Importance to muscle power
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Q.7. State whether the following statements are true or false. Give reasons for your answers
(any two): (4]

1.

Under special circumstances the Election Commission holds elections in a particular
constituency for a second time.

2. Coalition politics leads to instability.
3. Consumer movement came into existence.
Q.8. (A) Explain the following concepts (any one): [2]
1. Criminalisation of politics
2. Rights based approach
(B) Do as directed (any one): [2]
1. Complete the following concept map:
Process of Elections
Establishment of Constituencies
v
v
Nomination of candidates and scrutiny of their
nomination forms
Il
v
Actual voting
v
!
Results of elections
v
2. Complete the following concept map:
Challenges
before
Indian democracy
| | | | |
Q.9. Answer in brief (any one): [2]
1. What is meant by establishment of social justice?
2. What is meant by midterm elections?
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BOARD QUESTION PAPER: MARCH 2024

Geography

Time: 2 Hours

Max. Marks: 40

Q.1. Choose the correct alternatives and complete the sentences:

1. In the swampy areas of Pantanal are found.
(i)  condor (i1))  pink dolphins
(iii)) huge anacondas (iv) macaws
2. On the distribution of population factor affects..
(i)  physiographic (i)  sex ratio
(iii) literacy (iv) life expectancy
3. The most common method of transportation in Brazil is
(i)  airways (i)  waterways
(iii)) roadways (iv) railways
4. We should carry for a field visit to collect information.
(i)  chair (il))  black board
(iii)) water bottle (iv) questionnaire

Q.2. Choose the odd man out:
1. Coastal states in Brazil
(1)  Rio de Janeiro
(i)  Paraiba
(iii) Amapa
(iv) Acre

2. Region with very high rainfall in India.
(i)  Western part of Rajasthan
(i)  Western Ghats
(iii)) Meghalaya plateau
(iv)  Arunachal Pradesh

3. Tributary of river Amazon.
(i)  Paruriver
(i1)  Purus river
(iii)) Parana river
(iv)  Juruika river

4. Animals found in the Peninsular region of India.
(1)  Indian Bisons
(i) Deer
(iii)) Antelopes
(iv) Yaks

www.saiphy.com
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Q.3. Write short notes (any two):

1.
2.
3.

Q4 (A)

AN S e

(B)

Retreating monsoon
Deciduous forests of India
Historical background of Brazil

Mark the following in the outline map of Brazil. Write the names and give index

(any four):

Highest peak in Brazil
Sao Francisco river
Marajo island
Pampas

Equator

Capital of Brazil

Observe the map of India and answer the following questions (any four):

INDIA
National Highways
and Major Ports

Index

North-South Highway

sesseme-ooo East-West Highway
~— Golden Quadrilateral

National Highway

EBAY OF BENGAL

nan)

502N RUV drg,
o
-

bragr -",éhnﬁu

‘E\?isinm

sl
P
2R

R

%,
%

Questions:

wkh =

What is the title and subtitle of the map?

Which part has more density of roadways?

Name two ports to the western coast.

Name the highway that connects Porbandar and Silchar.
Name the island near Kolkata.
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Q.5. Give geographical reasons (any two):
1. Vegetation is scarce in the high altitudes of Himalayas.

www.saiphy.com

2. Tropical cyclones occur rarely in Brazil.
3. Settlements become sparse as we move towards the Amazon river basin.
4. Fishing plays an important role in the economy of India.

Q.6 (A) With the help of given statistical data, prepare a simple bar graph and answer the

following questions:

Trend of Urbanisation in India

(1961 to 2011)
Years Percentage of Urban Population

1961 18.0
1971 18.2
1981 233
1991 25.7
2001 27.8
2011 31.2

Questions:

1. What was the percentage of urbanisation in the year 1961?

2. In which decade was the growth of urbanisation lowest?

3. What was the percentage of urbanisation in the year 1991?

(B) Read the graph and answer the following questions:

Questions:

Name the sectors mentioned in the graph.

100 % 7

India and Brazil

Contribution of sectors in national income and
percentage of population engaged in the sector

 HE B

90 % T
80 % 1

60% 7

50% 7

.
70 % i

40 %

30% T %
b

20% A

10% +—

0%

Contribution of sectors
in natinal income

T X
,:4,, Sectors
-
' B Tertiary
o4
- rey !# Secondary
4 T2 - .
- - Primary
S e
L1l
India Brazil India Brazil

Percentage of Population
engaged in the sector

Which sector contributes the highest in National income in India?

Out of given two countries, the share of primary sector to the national income is less.

1
2
3. How much percent of population is engaged in primary sector in Brazil?
4
5

Which country's contribution of tertiary sector to the national income is less?

6. In which sector 19% population of Brazil is engaged?

Q.7. Answer in detail (any two):
1. Prepare a questionnaire for a field visit to a factory.

2. Give information of the coastal region of Brazil.

3. Which factors affect the distribution of poplilation of India?
www.saiphy.com
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BOARD QUESTION PAPER: MARCH 2024

Mathematics Part - |

Time: 2 Hours Max. Marks: 40
Q.1. (A) Choose the correct alternative from given: [4]
1. If 3 is one of the root of the quadratic equation kx* — 7x + 12 = 0, then k =
A 1 B) -1 © 3 D) 3
ii.  To draw the graph of x + 2y =4, find x when y = 1:
A 1 B) 2 © -2 D) 6
ili. Foran AP.,t;=4,d=-4,thena=
(A) 6 ®B) 7 (©) 20 (D) 28
iv.  In the format of GSTIN, there are alpha-numerals.
(A 9 B) 10 (©) 15 (D) 16
(B) Solve the following subquestions: [4]
1. If 17x + 15y =11 and 15x + 17y = 21, then find the value of x — y.
ii.  Find first term of the sequence t, = 3n — 2.
iii.  If the face value of a share is T 100 and market value is ¥ 150. If rate of brokerage is 2%,
find brokerage paid on one share.
iv.  Two digit numbers are formed using digits 2, 3 and 5 without repeating a digit. Write the
sample space.
Q.2. (A) Complete the following activities and rewrite it (any two): (4]
1. If (0, 2) is the solution of 2x + 3y =k, then to find the value of k, complete the following activity:
Activity:

ii.

(0, 2) is the solution of the equation 2x + 3y =k.

Putx = |:| and y = |:| in the given equation;
2x [ | +3x2=k

0+6=k
k=[]

If 2 and 5 are the roots of the quadratic equation, then complete the following activity to form
quadratic equation:

Activity:

Let a =2 and B = 5 are the roots of the quadratic equation.

Then quadratic equation is:

¥ —(a+PBx+ap=0

-+ Dx+|[  ]x5=0

|

X |x+| |=O
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(B)

ii.
iii.

1v.

Q3. (A)
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Two coins are tossed simultaneously. Complete the following activity to write the sample space and
the given events A and B in the set form:

Event A: To get at least one head.

Event B: To get no head.

Activity:

Two coins are tossed simultaneously.

Sample space is

S= {]:] HT, TH, I:]}
Event A: To get at least one head.
A= {]:] HT, TH}

Event B: To get no head.
B={_}

Solve the following subquestions (any four): [8]
[JABCD is a rectangle. Write two simultaneous equations using information given below in
the diagram, in the form of ax + by = c:

2x+y+8

A B

2y x+4

pH \Ye

4x -y

Solve the following quadratic equation using factorisation method:
X +x-20=0
Find the 19" term of the following A.P.:
7,13,19,25, .......

A card is drawn from well shuffled pack of 52 playing cards. Find the probability that the
card drawn is a face card.

The following table shows classification of number of workers and number of hours they
work in software company. Prepare less than upper limit type cumulative frequency
distribution table:

Number of hours daily Number of workers
8—-10 150
10-12 500
12-14 300
14-16 50
Complete the following activity and rewrite it (any one): [3]

The following frequency distribution table shows the classification of the number of vehicles
and the volume of petrol filled in them. To find the mode of the volume of petrol filled,
complete the following activity:

Class Frequency
(Petrol filled in Liters) (Number of Vehicles)
0.5-3.5 33
3.5-6.5 40
6.5-9.5 27
9.5-12.5 18
12.5-15.5 12
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Activity:

ii.

(B)

ii.

iii.

iv.

From the given table,

Modal class = |:|
f,—f
Mode = +|————22 | xh
] [D}
40-33
Mode=35+|———~
o {2(40)—33—27} o B

Mode = 3.5 + { ’ } x 3
80— 60

Mode =[]

The mode of the volume of petrol filled is I:I .

The total value (with GST) of remote controlled toy car is X 2360. Rate of GST is 18% on
toys. Complete the following activity to find the taxable value for the toy car:

Activity:

Total value for toy car with GST =3 2360
Rate of GST = 18%

Let taxable value for toy car be X x

GST= 18 »x
100
taxable value
Total value for toy car ..... Formula
Y (for toy car J I:I

2360=[ |+ X x

2360 x 100 =118x
2360>< 100

L1

Taxable value for toy car is X |:|

Solve the following subquestions (any mwo):
Solve the following quadratic equation by formula method:
3m’~m-10=0

Solve the following simultaneous equations using Cramer’s rule:
3x—4y=10,4x+3y =S5

50 shares of face value X 10 were purchased for market value of ¥ 25. Company declared 30%
dividend on the shares, then find:

a. Sum invested
b. Dividend received
C. Rate of return.

One coin and a die are thrown simultaneously. Find the probability of the following events:
Event A: To get a head and a prime number.
Event B: To get a tail and an odd number.

www.saiphy.com
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Q.4. Solve the following subquestions (any fwo): [8]

1.

1i.

ii.

A tank can be filled up by two taps in 6 hours. The smaller tap alone takes 5 hours more than
the bigger tap alone. Find the time required by each tap to fill the tank separately.

The following table shows the classification of percentage of marks of students and the
number of students. Draw frequency polygon from the table without drawing histogram:

Result Number of
(Percentage) Students
20-40 25
40 - 60 65
60 — 80 80
80—-100 15

In a ‘Mahila Bachat Gat’ Kavita invested from the first day of month X 20 on first day, % 40
on second day and X 60 on third day. If she saves like this, then what would be her total
saving in the month of February 2020?

Q.5. Solve the following subquestions (any one): [3]

1.

1i.

In the given figure, the pie diagram represents the amount spent on different sports by a
school administration in a year. If the money spent on football is ¥ 9,000, answer the
following questions:

What is the total amount spent on sports?
What is the amount spent on cricket?

Cricket Kabaddi
160° 55°

Football
45°

Draw the graph of the equation x + y = 4 and answer the following questions:
Which type of triangle is formed by the line with X and Y-axes based on its sides.
Find the area of that triangle.
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BOARD QUESTION PAPER: MARCH 2024
Mathematics Part - |

Time: 2 Hours Max. Marks: 40

Q.1. (A)

1.

Four alternative answers for each of the following sub-questions are given. Choose the

alternative and write its alphabet: (4]
Out of the dates given below which date constitutes a Pythagorean triplet?
(A) 15/8/17 (B) 16/8/16 ©) 3/517 (D) 4/9/15
sin O x cosec 6 =?
A 1 ® 0 © 3 @) V2
Slope of X-axis is
A 1 B) -1 <© o (D) Cannot be determined
A circle having radius 3 cm, then the length of its largest chord is .
(A) 1.5cm (B) 3cm (C) 6cm (D) 9cm
Solve the following sub-questions: (4]
If AABC ~ APQR and AB : PQ =2 : 3, then find the value of M .
A(APQR)

Two circles of radii 5 cm and 3 cm touch each other externally. Find the distance between their
centres.

Find the side of a square whose diagonal is 10v/2 cm.

Angle made by the line with the positive direction of X-axis is 45°. Find the slope of that line.

Complete any two activities and rewrite it: (4]
B

KX
X

In the above figure, ZABC is inscribed in arc ABC.

If ZABC = 60°, find mZAOC.
Solution:

ZABC = % m(arc AXC)

60° = % m(arc AXC)

|:| =m(arc AXC)
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But mZAOC = m ...[Property of central angle]

mZAOC = |:|

2. Find the value of sin’0 + cos’6. A
Solution:
In A ABC, ZABC =90°, ZC = 6°.
AB? +BC? = |:| ...[Pythagoras theorem]
Divide both sides by AC?
AB’  BC? _AC? 00

2 2" a2

AC” AC AC B_l C

(ABT (BCT_
AL [EE) =1
AC AC
AB BC _
Buse=[ JamdZZ=[ ]

sin%0 + cos’0 =

3.0 A

D C

In the figure given above, [JABCD is a square and a circle in inscribed in it. All sides of a square
touch the circle.

If AB = 14 cm, find the area of shaded region.

Solution:

Area of square = (|:|)2 ...[Formula]

Area of circle = |:| ...[Formula]

= 2 x 7 x7
-
=154 cm’
Area of shaded portion = Area of square — Area of circle
=196 — 154
e
(B) Solve any four of the following sub-questions: [8]
1 Radius of a sector of a circle is 3.5 cm and length of its arc is 2.2 cm. Find the area of the

sector.

2. Find the length of the hypotenuse of a right-angled triangle if remaining sides are 9 cm and
12 cm.
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In the above figure, m(arc NS) = 125°, m(arc EF) = 37°.
Find the measure of /NMS.

4. Find the slope of the line passing through the points A(2, 3), B(4, 7).

5. Find the surface area of a sphere of radius 7 cm.
Q.3. (A) Complete any one activity of the following and rewrite it: [3]
1
A
E D
B£<—2 C

In AABC, ray BD bisects ZABC, A —D — C, seg DE || side BC, A — E — B, then for showing

AB _ AB , complete the following activity:
BC EB
Proof:

In AABC, ray BD bisects ZB
AD
L a0 Y —
BC DC M ( )
In AABC, DE || BC

|

O —

AD
DC
% ...[From (I) and (II)]

Given: Chords AB and CD of a circle with centre P intersect at point E.
To prove: AE x EB = CE x ED

Construction: Draw seg AC and seg BD.

Fill in the blank and complete the proof.

Proof:

In ACAE and ABDE.

ZAEC = /DEB ]
|:| = /BDE (angles inscribed in the same arc)
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ACAE ~ ABDE ]
= E—
s

AE x EB = CE x ED.

(B) Solve any two of the following sub-questions: [6]
1 Determine whether the points are collinear.
A(l’ _3)3 B(z’ _5)7 C(_4s 7)

2. AABC ~ ALMN. In AABC, AB = 5.5 cm, BC = 6 cm, CA = 4.5 cm. Construct AABC and ALMN
BC 5

such that — == .
MN 4

3. Seg PM is a median of APQR, PM =9 and PQ2 + PR? = 290, then find QR.

4. Prove that, ‘If a line parallel to a side of a triangle intersects the remaining sides in two distinct points,
then the line divides the side in the same proportion.’
Q.4. Solve any two of the following sub-questions: [8]
1. 12 - 12 - 12 - 12 - 12 _f = -3, then find the value of 0.
sin“® cos“0 tan“0O cot“0 sec”® cosecO
2. A cylinder of radius 12 cm contains water up to the height 20 cm. A spherical iron ball is
dropped into the cylinder and thus water level raised by 6.75 cm. What is the radius of iron
ball?
3. Draw a circle with centre O having radius 3 cm. Draw tangent segments PA and PB through

the point P outside the circle such that ZAPB = 70°.

Q.5. Solve any one of the following sub-questions: [3]
1. [JABCD is trapezium, AB || CD diagonals of trapezium intersects in point P.
Write the answers of the following questions:

a. Draw the figure using given information.
b. Write any one pair of alternate angles and opposite angles.
c. Write the names of similar triangles with test of similarity.

2. AB is a chord of a circle with centre O. AOC is diameter of circle, AT is a tangent at A.
Write answers of the following questions:
a. Draw the figure using given information.
b. Find the measures of ZCAT and ZABC with reasons.
c. Whether ZCAT and ZABC are congruent? Justify your answer.
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